int hexagonSize;
intr,s, i

printf(" Enter number for Hexagon size : ");
s@ hexagonSize);

s
()
agonSize;
" Enter number for Oct
"%d", &octagonSize);
); r<octagonSize; r++)
=0; s<=octagonSize-r; 4

']ntf(” u)’_

=0; i<octagonSize; i++)
==0){
printf("*");

se if(r>0 && octagonSizd
printf("*");
for(s=0; s<(octagonSize

int main()
{
int age;
int year_of_birth;

time_t t = time(NULL);
struct tm tm = *localtime(&t);
int current_year = (tm.tm

int main()

{
float numi;
float num2;
char op;
float result = 0;

printf(" Enter for Number1 :
scanf("%f", &num1);

)i

printf(" Enter for Number2: );
scanf("%f", &num2);

printf(" Enter for Operator:");
scanf(" %c", &op)switch(op)
{
case “+:
result =num1 +num2;
break;
case '-':
result =num1 - num2;
break;
case *':
result = num1 * num2;
break;
case '/
result = num1 / num2;
break;

}

printf("\n Answer : %.2f %c %.2f = %.2f\n’, num1, op, numz2, result);

return 0;
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float r;
float area;

printf(" Input value of Radius : ");

scanf("%f", &r);

area=(M_PI*(r¥p))/2;

printf(" Enter value of Triangular Base : ");
scanf("%f", &tBase);

printf(" Enter value of Triangular High : ");
scanf("%f", &tHigh);

printf(" Enter value of High : ");
scanf("%f", &High);

BaseArea = 0.5 * tBase * tHigh;
printf("\n Base area is %.2f\n", BaseArea);

Prism = BaseArea * High;
printf("\n Prism volume is %.2f\n", Prism);

float Prism;
thb = usd * exchange_rate;

printf(" Enter value of Width : ");
scanf("%f", &Width); printf("\n");

printf(" Exchange rate 1 (USD) = %.2f (THB)\n", exchange rate)i
printf(" %.2f (USD) =%.2f (THB)\n\n", usd, thb);

printf(" Enter value of #®ng : *);
scanf("%f", &Long);

i) return 0;
printf{" Enter value offligh : "); }
i

scanf("%f", &High);

BaseArea =Width * Long;
printf("\n Base area is %.2f\n", BaseArea);

Prism =BaseArea * High;
printf{("\n Prism volume is %.2f\n’, Prism);

return 0;
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Sbaht >= 2){
n 2 Baht = %d", money_baht/2);
BReY_baht = money_baht % 2;

fiffmoney_baht >= 1)(
printf("\n 1 Baht = %d", money. baht);
}

iftmoney_satang >= 0.50)
{

money_satang = money_satang - 0.50;

)

iftmoney_satang >= 0.25)

printf("\n 25 Satang =%
money_satang = money_satang - 0.25;

satang >= 0.01)
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printf("\n 50 Satang = %d", (int)(money_satang / 0.50));

, (int) (money_satang / 0.25));

_baht =money_baht %6500;

if(m oney_bahit >= 100)(
pein 00 Bakr
money_baht = m;

if{money._baht >= 50}
printf("n 50 B:
money_baht =mone;

money_baht =

1 1Satang = %.0f (can't change) ', (money_satang * 100));

scanf("%f", &tHigh);
ilometer = meter / 1000.0;printf(" Enter value of Long : 13
printf(* Enter value of High :*); scanf(*%f", &Long);

scanf(’s figh);. . : : e
g lg[;\nnlf("\n Distance (Kilometgrakie2f\Recki|gmetenissy
BaseArea = 0.5 * tBase * tHigh; scanf("%f", &High);

printf("\n Base area Js %&.2R\n’, BaseArea);
Teturi o) BaseArea = Width * Long;
Prism = BaseArea * High; printf("\n Base area Is %.2f\n", BaseArea);
printf("™\n Prism volume is %.2A\n", Prism);
Prism = BaseArea * High;
printf("\n Prism volume I5 96.2f\n", PrSm);

return 0;

int main()
{
intage;

float tBase; int main() float usd;
float tHigh; { float thb;
float High; . float Width; float exchange_rate = 31.50;
float Baseardf)t Meter; float Long;
floatPrism;  float kilometer; float High; printf(® EnterDollar (USD) amount : ");
float BaseArea; scanf("%f", &usd);
printf(" Enter value of Trlangular Base : ); float Prism;
scanf(-96, agapinti(” Enter distance (Meters): °); thb = usd * exchange_rate; . n
scanf(ed T printf( Enter value of Widthi ) pn ntf( bn rﬁﬁ?a
printf(" Enter value of Triangular High': J; scanf("%f", &Width); printf("\n");
printf{* Exchange rate 1 (USD) = %.2f (THB)\n", exchange_rate);

PrinG(® %.2f (USD) = %.2f (THB)\m\n, usd, thb);

return 0; Scanf(no/
return 0;

for(r=0;

{
for(s=
prir

int year_of_birth;

time_t t = time(NULL);

struct tm

tm = *localtime(&t);

int current_year = (tm.tm_year +.1900) + 543;

printf(" Enter your year of birthiB:E): ");
scanf("%d";, &year_of_birth);

age = current_year - year_of_birth;

printf("\n Your age is %d\n", age);

return 0;

int main()

{
int octagonSize;
intr,s, i;

printf("* Enter number for Octagon size®
scanf("%d", &octagonSize);

for(r=0; r<octagonsSize; r+-+)

for(s=0; s<=octagonSize-r; s++){
printf(:");

printf(**");

i

else if(r>0 && octagonSize == 2){
printf("*");

for(s=0; s<(octagonSize*2-3)+r*2;

int hexagonSize;
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